Y [1] diff & int

> x:=t->cos(t)+t*sin(t);
y:=t->sin(t)-t*cos(t);
X

y

B simplify (dy (t)/dx(t));

ERBAM> TR I,

> dx:=unapply (diff (x(t),£),1);
dy:=unapply (diff(y(t),1),t);

Y-@Ps7 XA Yy 770y b e

=t—cos(t) + tsin(¢)
= t—sin(t) — tcos(?)

> plot((x(),y (), t=- 2*Pi.2*Pil):

dx = t—tcos(t)
dy =t—tsin(t)

sin(¢)
cos ()

> plot([x(t),dy (t)/dx(t),t=-1.5"Pi..1.5Pi],view=-2..2);
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> plot(sin(x)*sin(x),x=-Pi..Pi);
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X
> int(sin(x)*sin(x),x=-Pi..Pi);
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> plot(sin(2*x)*sin(3*x),x=-Pi..Pi);
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=> int(sin(2*x)*sin(3*x),x=-Pi..Pi);
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[> restart;
with(LinearAlgebra):

A:=Matrix([[1,0,-2],[0,2,0],[-2,0,11]);
B:=Matrix([[3,0,2],[0,-3,01,[2,0,31]);
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> AB;

>B.A;

B Eigenvectors(A);

=> v,P:=Eigenvectors(B);
B Transpose(P).A.P;

=> Transpose(P).B.P;

Y [2-(b)] 2XTE
[> restart:
with(LinearAlgebra):

v, P

B:

302
=0 -30
2 03
-1 0 -4
0 -6 0
-4 0 -1
-1 0 -4
0 -6 0
-4 0 -1
3][-101
201 o10
1 101
1][-101
30 o010
5 101
60 0
02 0
00 -2
2.0 0
0 -3 0
0 010

#A:=Matrix([[1,1,-11,[1,2,11,[-1,1,3]]);
A:=Matrix([[3,2,2],[2,2,0],[2,0,4]]);
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A=1220
204
=> |,P:=Eigenvectors(A):
=> x:=Vector([x1,x2,x3]);
xI
x=|x2
x3

=> tx:=Transpose(x);
o= [ xI x2 x3 ]

[> expand (tx.A.x);

3xI* 4+ 4xlx2 + 4xIx3 4+ 2x2% + 4x3°
[ > #P:=Matrix([[1,-1,31,[0,1,-21,[0,0,11]);
P:=<Normalize(Column(P,1),Euclidean)|
Normalize(Column(P,2),Euclidean)|
Normalize(Column(P,3),Euclidean)>;
y:=Vector([y1,y2,y3]);
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B tPy:=Transpose(P.y);
tPy =

B expand(tPy.A.P.y);
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|_> restart;
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a_b_c:=1;
ab_bc_ca:=-2;
abc:=-T;
abc=1
ab_bc ca = -2
abc = -1
7

> expand((a+b+c)*2-2*(@*b+a*c+b*c));
a2 _b2 c2:=a_b_c’2-2*(ab_bc_ca);
P+ +E
a2 b2 2:=5

£
> normal(1/a+1/b+1/c);

al_bl_cl:=ab_bc_ca/abc;

ab+ac+bc
abc

al bl cl =2

2(a+b+c)
abc

J
>a21_b21 _c21:=solve(2*a_b_c/abc=al_b1_c172-X,X);

a2l b2l c21 =6
> A:=(a*x-1/a)"2+(b*x-1/b)"2+(c*x-1/c)"2

2 2
A::(ax—l] +[bx—i) +[Cx—i)
a b c
> collect(expand(A),x);

(a2+b2+cz)x276x+%+%+
a b
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[z, #, #
> eq:=a2_b2_c2"*x"2-6"x+a21_b21_c21;

eq::5x2—6x+6

%, 77, a
> solve(7=eq,x);
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=> normal(expand((1/a+1/b+1/c)*2-(1/a"2+1/b"2+1/c"2)));
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>a b c=1.1;

ab_bc_cai=-2.2;
abc:=-1.1;
abc=11
ab_bc ca=-2.2
abc = -1.1
7

> expand((a+b+c)*2-2*(@*b+a*c+b*c));
a2 _b2 c2:=a_b_c’2-2*(ab_bc_ca);

EH+E
a2 b2 ¢2 =561
K
> normal(1/a+1/b+1/c);
al_bl1_cl:=ab_bc_ca/abc;
ab+ac+bc
abc

al_bl_cl ==2.000000000

=> normal(expand((1/a+1/b+1/c)"2-(1/a"2+1/b"2+1/c”2)));

2(a+b+c)
abc

J
>a2l_b21 _c21:=solve(2*a_b_c/abc=al_b1_c172-X,X);

a2l b21 ¢21:=6.
[> Ai=(a*x-1/a)"2+(0"x-1/b) " 2+(c**-1/c)"2
aefav— LY +(bx—~
> collect(expand(A),x);
(a2+b2+c2)x276x+
(=, &, #
>eq:i=a2_b2_c2*x"2-6"x+a21_b21_c21,

eq = 5612 —6x+6.

%, 77, a
> solve(7=eq,x);

-0.1465780696, 1.216096786
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